universal

universal parts A
ball bearings
deep-groove ball bearings 2RS
ros | b | edee | s | B oo or | paue | ke | e | e
1 523503 5 16 5 DIN 625-2RS 17 | 523511 17 40 12 DIN 6203-2RS
2 523504 6 19 6 DIN 626-2RS 18 | 523516 17 47 14 DIN 6303-2RS
3 523505 7 22 7 DIN 627-2RS 19 | 523522 20 42 12 DIN 6004-2RS
4 523501 8 22 7 DIN 608-2RS 20 | 523512 20 47 14 DIN 6204-2RS
5 523502 9 24 7 DIN 609-2RS 21 697116 20 47 20,6 DIN 3204-2RS
6 523506 9 26 8 DIN 629-2RS 22 | 523517 20 52 15 DIN 6304-2RS
7 523507 10 26 8 DIN 6000-2RS 23 | 692033 25 47 12 DIN 6005-2RS
8 523508 10 30 9 DIN 6200-2RS 24 | 523525 25 47 12 DIN 6005-2RS
9 505011 10 30 9 DIN 6200-2RS 25 | 523513 25 52 15 DIN 6205-2RS
10 | 523534 12 28 8 DIN 6001-2RS 26 | 523518 25 62 17 DIN 6305-2RS
11 | 523509 12 32 10 DIN 6201-2RS 27 | 523541 30 55 16 DIN 6006-2RS
12 | 523546 12 32 16 DIN 3201-2RS 28 | 523524 30 62 16 DIN 6206-2RS
13 | 523011 15 32 9 DIN 6002-2RS 29 | 523528 35 62 14 DIN 6007-2RS
14 | 523510 15 35 1 DIN 6202-2RS 30 | 523542 40 68 15 DIN 6008-2RS
15 | 523526 15 42 13 DIN 6302-2RS 31 | 523515 40 80 30 DIN 5208-2RS
16 | 523551 17 35 10 DIN 6003-2RS
flange bearings
Pos. |  Partno. type s"(m"j ° ('m‘::) Pos. | Partno. type s"(':“::s s (n';’r‘n)
1 693112 UCF204 20 64 3 697279 UCF206 30 83
2 697278 UCF205 25 70
thrust ball bearings
Pos. | Partno. Sp(i;(:rls ° ?r)r(:mﬁ), (mBm) type Pos. |  Partno. SP(I::S ° ?r):mi (mBm) type
1 523000 12 26 9 51101 6 523536 20 40 14 51204
2 523520 15 28 9 51102 7 523523 25 42 1 51105
3 523547 15 32 12 51202 8 523529 25 47 15 51205
4 514042 17 35 12 51203 9 523533 30 47 1 51106
5 523537 20 35 10 51104 10 | 523532 30 52 16 51206
| J

109



Food preparation equipment universal parts

( drive belts
poly-V belts
Pos. Part no. profile (mlin) (mBm) grooves Pos Part no. profile (mLm) (mBm) grooves
1 693269 140 355 14 6 27 | 693939 TB2 630 12 6
2 698227 J 483 18,7 8 28 | 698000 TB2 630 24 12
3 693140 J 1168 30 14 29 | 698223 TB2 660 12 6
4 697612 TB2 266 16 8 30 | 697622 TB2 675 16 8
5 697613 TB2 295 16 8 31 | 697623 TB2 675 24 12
6 697280 TB2 310 16 8 32 | 698157 TB2 725 24 12
7 697615 TB2 310 20 10 33 | 697624 TB2 770 20 10
8 698217 TB2 330 14 7 34 | 698224 TB2 1186 14 7
9 697367 TB2 330 16 8 35 | 697625 TB2.34 356 37 16
10 | 697616 TB2 345 16 8 36 | 697626 TB2.34 381 21 8
11 | 698219 TB2 360 16 8 37 | 697627 TB2.34 406 26 9
12 | 697617 TB2 360 20 10 38 | 697628 TB2.34 406 40 17
13 | 697284 TB2 380 16 8 39 | 698225 TB2.34 432 14 6
14 | 698220 TB2 380 20 10 40 | 698226 TB2.34 432 23,4 10
15 | 697699 TB2 400 16 8 41 | 697629 TB2.34 457 24 9
16 | 698215 TB2 400 20 10 42 | 698206 TB2.34 457 28 12
17 | 697618 TB2 400 24 12 43 | 697630 TB2.34 483 24 10
18 | 697619 TB2 430 16 8 44 | 697631 TB2.34 483 28 12
19 | 698126 TB2 430 20 10 45 | 697632 TB2.34 508 24 10
20 | 698213 TB2 430 22 1 46 | 697633 TB2.34 559 23 9
21 | 698156 TB2 430 28 14 47 | 697634 TB2.34 559 30 13
22 | 698216 TB2 480 20 10 48 | 697635 TB2.34 559 38 16
23 | 698221 TB2 480 22 1 49 | 697636 TB2.34 610 19 7
24 | 697620 TB2 510 20 10 50 | 697637 TB2.34 660 19 7
25 | 698222 TB2 526 12 6 51 | 697638 TB2.34 71 19 7
26 | 697621 TB2 526 20 10 52 | 697639 TB2.34 711 28 12
round belts
Pos. Part no. (mLm) (mam) Pos. Part no. (mLm) (mom) Pos. Part no. (ml;") (":")
1 693701 540 8 8 693843 680 8 15 | 693704 884 8
2 693873 560 8 9 695277 720 6 16 | 693702 895 8
3 693874 600 8 10 | 691232 730 8 17 | 693877 920 8
4 693705 620 8 11 | 694259 750 8 18 | 695298 940 6
5 693703 635 8 12 | 693875 784 8 19 | 695399 950 7
6 691231 640 8 13 | 695278 830 6 20 | 693878 950 8
7 693700 645 8 14 | 693876 860 8 21 | 695299 1280 6
\_

110



universal

toothed belts

Pos. | Partno. profile (m"m) (mE:“) CODE Pos. | Partno. profile (m"m) (m?“) CODE
1| 691427 - 160 3 6G16 6 | 697692 XL 140 10 140XL037
2 697696 L 210 10 210L100 7 697693 XL 190 10 190XL037
3 | 697698 L 240 13 240L050 8 | 697694 XL 200 10 200XL037
4 504778 T10 610 16 - 9 697695 XL 210 10 210XL037
5 | 697691 XL 130 10 130XL037 10 | 697697 XL 220 10 220XL037
V-belts
Pos. Part no. CODE be::nv;i]()ith (mLm) (mHm) profile Pos. Part no. CODE be::nv;i]()ith (mLm) (mHm) profile
1 697641 - 5 260 3 6Y 34 | 697675 T24 3/4 8 630 5 8T
2 | 697642 - 6 270 4 6Y 35 | 697676 T26 1/2 8 630 5 8T
3 697643 - 6 280 4 eY 36 | 697677 T28 8 710 5 8T
4 | 697648 - 6 339 4 6Y 37 | 697644 Y324 6 300 4 6Y
5 697650 - 6 360 4 eY 38 | 697645 Y343 6 320 4 eY
6 | 697655 £ 6 450 4 6Y 39 | 697646 Y352 6 330 4 6Y
7 697657 - 6 500 4 6Y 40 | 697647 Y361 6 335 4 6Y
8 | 697659 - 6 580 4 6Y 41| 697649 Y381 6 352 4 6Y
9 | 697660 - 6 600 4 6Y 42 | 697651 Y394 6 372 4 6Y
10 | 697690 A18 13 457 8 A 43 | 697652 Y411 6 380 4 6Y
11| 695163 A24 13 610 8 A 44 | 697653 Y425 6 400 4 6Y
12 | 695389 A26 13 660 8 A 45 | 697654 Y441 6 425 4 6Y
13 | 695164 A29 13 737 8 A 46 | 697656 Y495 6 475 4 6Y
14 | 697071 A32 13 813 8 A 47 | 697658 Y588 6 565 4 6Y
15 | 697072 A42 13 1067 8 A 48 | 697661 Y665 6 640 4 6Y
16 | 697073 A43 13 1092 8 A 49 | 697662 Y700 6 675 4 6Y
17 | 697074 A49 13 1250 8 A 50 | 697663 Y714 6 695 4 6Y
18 | 697075 A52 13 1320 8 A 51 | 697678 Z14 10 355 6 z
19 | 697076 A56 13 1422 8 A 52 | 697680 Z15 3/4 10 400 6 Z
20 | 691963 AX40 13 1050 8 - 53 | 697681 716 3/4 10 424 6 z
21 691635 AX63 13 1655 8 AX 54 | 697682 Z17 1/4 10 438 6 Z
22 | 697743 SPA 732 12,7 750 10 SPA 55 | 697683 718 10 460 6 z
23 | 697664 T121/2 8 315 5 8T 56 | 697684 Z18 3/4 10 475 6 Z
24 | 697665 T14 8 355 5 8T 57 | 697685 719 3/4 10 500 6 z
25 | 697666 T14 3/4 8 375 5 8T 58 | 697686 720 1/2 10 520 6 z
26 | 697667 T15 3/4 8 400 5 8T 59 | 697687 Z211/4 10 540 6 z
27 | 697668 T16 3/4 8 410 5 8T 60 | 693262 722 10 560 6 z
28 | 697669 T17 8 430 5 8T 61 697688 723 3/4 10 600 6 z
29 | 697670 T17 3/4 8 450 5 8T 62 | 691224 725 p 635 6 z
30 | 697671 T18 3/4 8 475 5 8T 63 | 697689 z27 10 685 6 z
31 | 697672 T20 3/4 8 530 5 8T 64 | 691225 728 . 710 6 z
32 | 697673 T22 8 560 5 8T 65 | 693400 Z36 10 915 6 z
33 | 697674 T23 8 580 5 8T

111




Food preparation equipment universal parts .

feet
th.le [} H th.le [ H
Pos. Part no. s (mm) (mm) f) Pos. Part no. TS (mm) (mm) (mm)
1 695612 M8 20 29 1 2 691122 M8 24 38 13
|
1 2 3 4 5 6 7
th.le [] H Qty th.le ] H Qty
Pos. Part no. TS (mm) (mm) (i (p0) Pos. Part no. TS () i () (p0)
1 691652 M10 23 25 29 1 5 690833 M10 45 24 8 10
2 700875 M10 25 24 8 1 6 700710 M12 55 38 15 1
3 690832 M10 25 24 8 10 7 696094 M5 10 15 10 1
4 697331 M10 32 34 12 1
=
8 9 10 11 12 13 14
th.le ] H Qty th.le ] H Qty
Pos. | Partno. 7 (mm) (mm) (mm) (pe) Pos. | Partno. ™ (mm) (mm) (mm) (pe)
8 691264 M6 16 25 6 1 12 | 700873 M8 25 24 1
9 693947 M8 15 26 8 1 13 | 690830 M8 25 24 8 10
10 | 691344 M8 20 23 12 1 14 | 691118 M8 25 25 7 1
11 | 513284 M8 20 30 12 1
15 16
thle o H aty thle P H Qaty
Pos. | Partno. ™ (mm) (mm) (mm) (pe) Pos. | Partno. ™ (mm) (mm) (mm) (pe)
15 | 700874 M8 45 24 8 1 16 | 690831 M8 45 24 8 10
I ? i
1 2 3 5 6 7
th.le [} H th.le (] H
s partinos ] (mm) (mm) (mm) Ros) Bartinoy (3 (mm) (mm) (mm)
1 693791 M5 10 36 25 5 697383 M8 10 47 46
2 697387 M5 10 36 27 6 527255 M8 12 47 45
3 697757 M6 9 37 27 7 802136 M8 15 47 40
4 697773 M6 12 47 35

112



universal
shaft gaskets A

R | R ;nmtmﬂ; ?:ltr.n? (mtm) i ;nmtme; ?r)::mﬂ; (mtm)
1 511170 7 22 7 10 | 697475 20 30 5
2 697407 8 18 6 11 698001 20 35 7
3 | 527291 11 22 8 12 | 698002 25 40 7
4 698239 11,91 18,24 5 13 | 698117 25 47 7
5 | 698211 15 24 5 14 | 698207 30 40 7
6 698116 15 30 7 15 | 698123 30 62 7
7 | 691049 17 28 7 16 | 698121 35 50 5
8 | 516246 17 35 7 17 | 698122 40 62 7
9 697121 17 40 7

113



ORDER FORM

gCompany stamp Contact

Item  Part no. |Quantity | Description

10

11

12

13

14

15

16

17

18

Place, date: ..o, SIGNALUIE: ...



Regarding the purchase of our spare parts,
we advise as follows

Repairs on catering equipment should only be carried out by a qualified service
technician and it is the buyer of the part delivered who bears the responsibility for
its subsequent use or processing. The buyer must also be aware of the relevant
national laws and regulations in force e.g. local gas supply. Part descriptions and
pictures relating to the shape, application and other features of products are only
provided for information purposes. We accept no liability for the accuracy of tech-
nical descriptions and illustrations in our catalogue and we reserve the right for
any printing errors. Copies of this catalogue are only allowed with the expressed
permission of the GEV GROUP.

Copyright GEV GROUP 2010
GEV GmbH, Robert-Koch-Str. 3a, 82152 Planegg, Germany
www.gev-online.com



United Kingdom

GEV Catering Spares Ltd.
Office 307/308

Springfield House
Springfield Business Park
Springfield Road

Grantham

NG31 7BG, United Kingdom

Tel.: +44 1476 514642
Fax: +44 1476 514640
info@gev-online.co.uk
www.gev-online.co.uk

Austria

GEV austria GmbH

AustraBe 12

5110 Oberndorf bei Salzburg. Austria

Tel.: +43 6272 6688-0
Fax: +43 6272 6688-14
office@gev.at
www.gev.at

France

PCP Piéces Cuisines Professionnelles S.a.r.l.
160 rue de Palverne — ZAC de Rosarge

RN 83 Les Echets

01700 Miribel, France

Tel.: +33 4 72 26 31 01
Fax : +33 4 72 26 33 96
contact@pcp-cuisine.fr
www.pcp-cuisine.fr

Germany
GEV GmbH
Robert-Koch-Sir. 3a

82152 Planegg, Germany
Tel.: +49 89 745572-0 .

Fax: +49 89 745572-82
bestellung@gev-online.de
www.gev-online.de

ltaly

Fast ricambi srl

Via Manin, 65

31015 Conegliano (TV), ltaly

Tel.: +39 0438 453586
Fax: +39 0438 455263
fastservice@fastricambi.it
www.fastricambi.it

Switzerland

GEV GmbH

Kanalstrasse 14

5745 Safenwil, Switzerland

Tel.: +41 (62) 797 25 06
Fax: +41 (62) 797 25 07
info@gev-online.ch
www.gev-online.ch

Other countries

GEV GmbH
Robert-Koch-Str. 3a
82152 Planegg, Germany

Tel.: +49 89 745572-0
Fax: +49 89 745572-83
order@gev-online.com
www.gev-online.com




